residual of frame 0, mean = 0.2106686532497406 +- 9.970575332641602
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residual of frame 4, mean = -0.933509349822998 +- 4.618459224700928
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residual of frame 0 - 1, mean = 2.064495801925659 +-11.143827438354492
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residual of frame 2 - 3, mean = 0.32393336296081543 +- 6.274222373962402
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e

i g e

P e e N e
i s __n.._.P J 2y F T FLie ATy iea- Sl e e ey

e G A GG S B o e S

i

TR R P R e e

g o £ A A, e TR el ol

foe E
. = P A - =
S R R R T

il e i S b

LY

e -

R e
..”_&..J..n._w.mlq.r

P
s

T

o
o
o
o




3500

3000

vt Ty

2500

Furda

T e

T e s

T e e

b
Al 4._"

St R

PR P e
el 2.......1..? A

2 T T

2000

i

B L e e

residual of frame 7 - 8, mean = -1.193595051765442 +- 6.409167289733887

1500

1000

500




residual of frame 8 - 9, mean = -0.11067334562540054 +- 6.606337547302246
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residual of frame 9 - 10, mean = -0.013850911520421505 +- 6.1942458152771
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